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e 7 H ® B = | B B Im | & % | B m | = %= i B3 | = %8
* 10[4#h B SR E BEm R ERAERHEE 0.100] A 47,500 4,750 47,500 4,750 0.000 0
* NM|EEMEFES |RIEMEEERE 0.200] A 35,000 7,000/ 35,000 7,000 0.000 0
* 12(ERES R ERAERHEE 0.300[ A 25,900 7,770 25,900 7,770 0.000 0
504 | ¥ ¥ & RIS HEE 1.000] % 19,520 195 0 0|M¥E 0.000 0
g 19,715 19,520 0.000 0
B {f 1.0 &Y 19,715
EEAGE 19,520
ZTDMhIEE 195
datal ({§#)
4




= REE?
=25 1 A B (i 3= i
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R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
1|FEMEREES |[RIEMBEEEREE 0.330[ A 35,000 11,550| 35,000 11,550 0.000 0
12| EREE R EHEEEREE 0.670) A 25,900 17,353| 25,900 17,353 0.000 0
* 854 |t LA ® 9cm*4m 0.030|] & 580 17 0 0]1,160/(4m/2)=580]| 0.000 0
* 855 [mamir=— 1L <17 —pe |[VP40mm 27.690 m 266 7,366 0 0](213.5+8.0)m/87.=27.69m 0.000 0
*x | 857[/\ADUyk/tvh—|[L=1m. 66mmB 2.000] X 40,100 80,200 0 0| & 0.000 0
504|#1 #1 & NELEIcHTIEE 5.000] % 87,583 4,379 0 0|#HI & 0.000 0
856 |#& f s 1.000( %8 13,000 13,000 0 o|# ¥ & 0.000 0
B 133,865 28,903 0.000 0
B fiff 1.0 HEHY 133,865
EEANE 28,903
ZTDMhIEE 104,962
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* 10| #h 25 ER & A RIFMTEHEEEREE 47,500 2,375 47,500 2,375 0.000 0
* 1M[FEHERES |RIEMERERE 35,000 27,300/ 35,000 27,300 0.000 0
504 |41 ¥ & HELHEICHTBEE 29,675 297 0 0 0.000 0
803| B §o K&t PCh—F= 1,585 47,550 0 0 0.000 0
B 77,522 29,675 0.000
B 1 1.0 H&Y 77,522
EEANE 29,675
ZTRMBEE 47,847
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* 10| #h 25 ER & A RIFMTEHEEEREE 0.400] A 47,500 19,000] 47,500 19,000 0.000 0
* 1M[FEHERES |RIEMERERE 0.400[ A 35,000 14,000| 35,000 14,000 0.000 0
* 12(ERES RIFZMTEHEEEREE 1.200f A 25,900 31,080 25,900 31,080 0.000 0
504|#1 #1 & NELEIcHTIEE 62.000] % 64,080 39,730 0 0|#HI & 0.000 0
B 103,810 64,080 0.000 0
B fiff 1.0 FEY 103,810
EEANE 64,080
ZTRMBEE 39,730
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* 10| #h 25 ER & A RIFMTEHEEEREE 0.000] A 47,500 0| 47500 0 0.000 0
* 1M[FEHERES |RIEMERERE 0.040[ A 35,000 1,400| 35,000 1,400 0.000 0
* 12(ERES RIFZMTEHEEEREE 0.040] A 25,900 1,036] 25,900 1,036 0.000 0
504|#1 #1 & NELEIcHTIEE 4.000] % 2,436 97 0 0|#HI & 0.000 0
806 | ih 5= E AR ET SRL-13(1 H/8 B iR 43 7500 & 175 1,313 0 0/30*«4.5/18=7.5]| 0.000 0
B 3,846 2,436 0.000 0
B fiff 1.0 [EHY 3,846
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ZTRMBEE 1,410
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* 10[4#h B SR E BEm R ERAERHEE 0.100] A 47,500 4,750 47,500 4,750 0.000 0
* NM|EEMEFES |RIEMEEERE 0.200] A 35,000 7,000/ 35,000 7,000 0.000 0
* 12(ERES R ERAERHEE 0.200[ A 25,900 5,180| 25,900 5,180 0.000 0
504 | ¥ ¥ & RIS HEE 1.000] % 16,930 169 0 0|M¥E 0.000 0
g 17,099 16,930 0.000 0
B fiff 1.0 AHY 17,099
EEAGE 16,930
ZTDMhIEE 169
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R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 122(ERES RIFMTEHEEEREE 0550 A 25,900 14,245 25,900 14,245 0.000 0
* 22| T R EHEEEREE 0.300] A 29,600 8,880 0 0|FHE 0.000 0
504 |1 & HEEHEIcHTBEE 1.000[ % 23,125 231 0 o|# ¥ & 0.000 0
802| BELFREETIEH  |EnfEIwREY 30.000] H 365 10,950 0 ol iRz & 0.000 0
B 34,306 14,245 0.000 0
H i 1.0 FHANY 34,306
EEANE 14,245
ZTRMBEE 20,061
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613|tBER—Y> 5o | P 66mm BSELY + 1.000[ m 25,500 25,500 0 0| ZDHhiE 0.000 0
i 25,500 0 0.000 0
B 1 1.0 m4lY) 25,500
EEAGE 0
ZTRMBEE 25,500
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4
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614|+ER—> a7 |d66mm EEELYLR 1.000] m 50,800 50,800 0 0| ZDIIRE 0.000 0
i 50,800 0 0.000 0
B 1 1.0 m4lY) 50,800
EEAGE 0
ZTRMBEE 50,800
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4
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667 |mmuzn +-vrmx sesns 1.000] m 27,231 27,231 0 0| ZDhiRE 0.000 0
348 AR ILHYSH ¢ 66mm 0.440| {& 2,660 1,170 0 0|#HI & 0.000 0
327|7h—)>5 Oyk  |#%40.5mm L=3m 0.010] & 11,100 111 0 0| & 0.000 0
18124 )La7Fa—7| ¢ 66mm L=1.5m 0.020| & 7,770 155 0 0|MHE 0.000 0
B 28,667 0.000
B 1 1.0 m4lY) 28,667
EEANE 0
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10| #h 25 ER & A RIFMTEHEEEREE 0.500] A 47,500 23,750| 47,500 23,750 0.000 0
1M[FEHERES |RIEMERERE 1.000] A 35,000 35,000/ 35,000 35,000 0.000 0
12(ERES RIFZMTEHEEEREE 2.000] A 25,900 51,800/ 25,900 51,800 0.000 0
326|R—1)> 5w 8% 5.5KW 1.000 H 6,886 6,886 0 0/6,260+1.10=6,886]| 0.000 0
809|7 SR TIEH |Re sHEs0~70 1.000] H 2,820 2,820 0 0| IR 0.000 0
37|8%;m 5.400] L 115 621 0 0lo.151x5.8+6.2=5.43 ]| 0.000 0
37|88 5100 L 115 587 0 0|o0.207%4.0%6.2=5.13] | 0.000 0
B 121,464 110,550 0.000 0
B fiff 1.0 H4Y 121,464
EEANE 110,550
ZTDMhIEE 10,914
data| (&%) B A4 7ILEA L 1.39 ZEE 1.00 4% 1.00 A 1.00 BFET 1.00 ¥53E 0.00 H Yo'V HMEE Bm #MHE
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1BEE-BEE RIFMTEHEEEREE 1.500] A 65,500 98,250/ 65,500 98,250 0.000 0
2| EEHED R EHEEEREE 2.250] A 57,400 129,150, 57,400 129,150 0.000 0
5|3EMC RIFZMTEHEEEREE 2.250] A 32,800 73,800 32,800 73,800 0.000 0
B 301,200 301,200 0.000 0
B 1 1.0 X7H%4Y 301,200
EEAGE 301,200
ZTRMBEE 0
data| (&%) #H1E{R%1.5
4




= 2, REE?
AR B T
e 2194 | =50 58 ERES| 2194 |BLEMEEE
EX B MR feae s 0l 1-FMNo ER D 1.00 EIVINES AE ST E A E A=F-
B & RS 1ERT I REEIR0.6km2LL T 3-5-3 2 B NERAGS B o= [[REesRONES)
e R 7 H ® B = | B B Im | & % | B m | = %= i B3 | = %8
2| FEEER R ERAERHEE 1.000] A 57,400 57,400/ 57,400 57,400 0.000 0
3|HEMA R ERAEHE 1.000] A 51,200 51,200/ 51,200 51,200 0.000 0
4| BB R ERAERHEE 0.500[ A 40,600 20,300( 40,600 20,300 0.000 0
5|3 EmC R ERAEHE 1.000] A 32,800 32,800/ 32,800 32,800 0.000 0
6| BT & RIFEMIERAERHEE 1.500] A 29,000 43,500[ 29,000 43,500 0.000 0
g 205,200 205,200 0.000 0
B {f 1.0 EFHELY 205,200
EEAGE 205,200
ZTDMEE 0
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FEHER RIFMTEHEEEREE 1.950] A 57,400 111,930 57,400 111,930 0.000 0
FETA R EHEEEREE 1.950] A 51,200 99,840 51,200 99,840 0.000 0
B EmB RIFZMTEHEEEREE 1.300 A 40,600 52,780| 40,600 52,780 0.000 0
HEfC R EEEREE 1.300] A 32,800 42,640 32,800 42,640 0.000 0
Bifig R EHEEEREE 0.650[ A 29,000 18,850| 29,000 18,850 0.000 0
i 326,040 326,040 0.000
B 1 1.0 X7H%4Y 326,040
EEANE 326,040
ZTRMBEE 0
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& | 1ERT M RIEETR0.6km2 LT 3-5-6 1% 8B NERAGS (BED>L DI ESH)|
BfiNo| o % = | Hfr| B ff 28 | H | £ % Hi# | £ %8
2| FEHED RIFMTEHEEEREE 1.000 A 57,400 57,400| 57,400 57,400 0.000 0
3|EMA R ERAEHE 2.000] A 51,200 102,400, 51,200 102,400 0.000 0
4|3ENB RIFZMTEHEEEREE 1.000 A 40,600 40,600/ 40,600 40,600 0.000 0
5|HiEfiC R ERAEHE 1.000 A 32,800 32,800/ 32,800 32,800 0.000 0
6| FfiiE R EHEEEREE 1.000 A 29,000 29,000/ 29,000 29,000 0.000 0
B 262,200 262,200 0.000 0
B 1 1.0 X7H%4Y 262,200
EEANE 262,200
ZTRMBEE 0
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2| FEEER R ERAERHEE 1.000] A 57,400 57,400/ 57,400 57,400 0.000 0
3|HEMA R ERAEHE 1.000] A 51,200 51,200/ 51,200 51,200 0.000 0
4| BB R ERAERHEE 1.000] A 40,600 40,600( 40,600 40,600 0.000 0
5|3 EmC R ERAEHE 0.500[ A 32,800 16,400| 32,800 16,400 0.000 0
6| BT & RIFEMIERAERHEE 1.500] A 29,000 43,500[ 29,000 43,500 0.000 0
g 209,100 209,100 0.000 0
B {f 1.0 EFHELY 209,100
EEAGE 209,100
ZTDMEE 0
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BfiNo| G o % = | Hfr| B ff 28 | H | £ % Hi# | £ %8
2| FEHED RIFMTEHEEEREE 1.100] A 57,400 63,140| 57,400 63,140 0.000 0
3|EMA R ERAEHE 1.100[ A 51,200 56,320/ 51,200 56,320 0.000 0
4|3ENB RIFZMTEHEEEREE 1.100] A 40,600 44,660| 40,600 44,660 0.000 0
5|HiEfiC R ERAEHE 0.550] A 32,800 18,040/ 32,800 18,040 0.000 0
6| FfiiE R EHEEEREE 1.650] A 29,000 47,850| 29,000 47,850 0.000 0
B 230,010 230,010 0.000 0
B 1 1.0 X7H%4Y 230,010
EEANE 230,010
ZTRMBEE 0
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2| E{EHED RIFMTEHEEEREE 1.500] A 57,400 86,100/ 57,400 86,100 0.000 0
3|EMA R ERAEHE 1.000 A 51,200 51,200/ 51,200 51,200 0.000 0
4|3ENB RIFZMTEHEEEREE 1.500f A 40,600 60,900/ 40,600 60,900 0.000 0
B 198,200 198,200 0.000 0
B 1 1.0 X7H%4Y 198,200
EEAGE 198,200
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* 168 E FEh RIFMTEHEEEREE 0150 A 40,000 6,000 40,000 6,000 0.000 0
* 17[ B = e R EHEEEREE 1.200f A 30,700 36,840/ 30,700 36,840 0.000 0
* 18[BI=B1F RIFZMTEHEEEREE 2180 A 29,600 64,528| 29,600 64,528 0.000 0
* 19[;BI =B & R EEEREE 1.980] A 24,200 47916/ 24,200 47,916 0.000 0
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 155,284 7,764 0 0 0.000 0
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B 165,377 155,284 0.000 0
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